Division par 10* (D)

93 + 10*

47 +10*

62 <+ 10*

29 + 10?

62 <+ 10*

28 - 101

47 +10*

33 =101

56 = 10!

31+ 10*

Trouvez chaque quotient.

89 = 10 =

76 - 10 =

68 = 10!

60 + 10*

66 + 10 =

16 =10 =

100 = 10* =

20 + 10 =

20 +10' =

31 +10'=
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Division par 10* (D) Solutions

93 +10'=9,3

47 + 101 =47

62 +10'=6,2

29 +10'=29

62 +10'=6,2

28 +10'=2,8

47 + 101 =47

33 +10'=3,3

56 +~10'=5,6

31+10'=3,1

Trouvez chaque quotient.

89 +~10'=8,9

76 -+ 10 =7,6

68 ~ 101 =6,8

60 +10'=6

66 ~ 101 =6,6

16 +10'=1,6

100 + 10* =10

20 +~ 101 =2

20 -101=2

31 +10'=3,1
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